RKC4.4T-15-RSC4.4T/TXL1075
MITEMEBBEL , PUR - KL

M12x1 215 ~514

ol5
2514 m12x1

EARHE
RE RKC4.4T-15-RSC4.4T/TXL1075
®5 6634161
BERHA #3k, M12 x 1, B, A-coded
HHBE 4
il = 4F , Cuzn , S
il SRR ¥R TPU, B
TEEF BH, TPU, B
E IR RET 4, CuZn, &4
Seal %, FPM/FKM
& > 100 ALK
BEREE 3
RpEE IP67, IP6IK, REIFERST
Em4B M, M12 x 1, B, A-coded
HHMBE 4
fil X 4 , Cuzn , S
il SRR ¥R TPU, B
TEEF BERME, TPU, B&
TE IR R/ E R 0RET 4, CuZn, 4848
W HE o > 100 fEEFREK
BREE 3
B &R IP67, IP6OK, X HiF#:7E — k2 ad
B4
SKEER @ 6.2 mm +0.20
SLEGKE 15 m
ZEFE PUR, &
S&B5M PP
LB 4 x0.75 mm?

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 1|2

BR
c®mc€

LISTED

1P67/
IP69K

RoHS

compliant

DEGREE OF
PROTECTION

)0)0) o)l Y
o L e
QQGIGQ( =
M Female M12, straight, 4-pin
M Male M12, straight, 4-pin
EHEMR : PUR
NP EHG . 26
NERTiESE
B m, RENL, T
N EFERYE
LNyt e
BFE&xN%. B, PVCHLABS
W 45 B R
WA &R : IP67. IP6IK
WELEKE:15m

fih X7 B
2 WH 2WH
o] O
1BN {(O O])3BU 3BU 1BN
O
4BK 4BK
B R
| i | BN | 1
10— =1
|2> | WH | 2|
! i BU ! i
I 30 =3 |
L 4> BK Ly i
| N - | | N - |

RKC4.4T-15-RSC4.4T/TXL1075| 30-07-2023 01-20 | REHARME K



BAREHE
REL% , ME 19 x 0.23 mm
SEHE BN, WH, BU, BK
BHSHRE@20°C
BEIFBE 250V
Wizt BB 2000 V
B3 4A
R > 30.5 MQ/km
EmEEEMA RAME 24 Q/km
P AL 1R
EHYER (AERNRE) > 5 xQ@
EH¥EE (FH) > 10 x@
EH¥ER 258A
B IEE & 5m/s?
B KFEEER 5m (5 m/s? &)
RTEERERR 2m (5 m/s2At)
BFERHEE 3.3m/s
RS +180 °/m
B E -50 °C...+80 °C
i (X 45 -25°C...+80 °C
HEEM TFIERE -25°C...+60 °C
TAIE cULus

Bt 14

TORQUE-WRENCH-SET-AS 6936170

HIERFELE ; LETFHIE0.4-1.0
Nm , BFM8 (SWO)HBERF , A
FM12 (SW 14) M R LR F

BLANK-LABEL-FOR-CORDSETS-TEL-TXL 6936206
TEL # TXL &4i45:% , KE : 18
mm , B 4mm , ¥ BREREE
(PC) , His : AE , TEXE , M

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 2|2

RKC4.4T-15-RSC4.4T/TXL1075| 30-07-2023 01-20 | REHARME K



